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4.2 FRETHIE
1) 3 3SRV At

D1 : [ 7EFEAT B
MD1 = = 0. 00 kN -
Sh1 D1 (Fk) /2 = 56. 82 kN

I

D2 : fHINFET
MD2 = = 0. 00 kN -
Sh2 D2 (Fk) /2 ' = 16. 70 kN

1l

Lo: {GAr i (RN i)
ML = = 0. 00 kN -
SL L(Fk) /2 = 79.70 kN

2) P IO M o FitAit

D1 @ [ SET HL
MD1 = DI’ (Fk) - 0%/8 _ = 250.29 kN
SD1 = = 0. 00 kN

D2 : - nFEs; &
MD2 = D2’ (Fk) - 0%/8 = 73. 71 kN
SD2 = = 0. 00 kN

L: #EmiE (Re4EmrE)

ML = L’ (Fk)-0%/8 = 350.73 kN

§L = = 0. 00 kN
3) IREEBOER OREM (i3 a0 & Okl x=6. Om)

D1 : [fE FEA HE

MD1 = D1’ (Fk) - 0%/2+ (x/0-x%/0% = 292.48 kN

Sh1 = D1’ (Fk) -{1;\‘/2~(1~2x/13) . 18. 54 kN
\ /

D2 @ < INFEL

MD2 = D2’ (Fk) - 02/2+ (x/0-x%/0%) = 65. 52 kN

SD2 = D2’ (Fk) -(1)\/2- (1-2x/0) = 5. 46 kN
X} [;

D3 ¢ WGPEE (R )
MD3 = L’ (Fk) - 0%/2+ (x/0-x%/0%) = 31176 kN«
SD3 = L’ (Fk) -=1)\/2- (1-2x/0) = 25. 98 kN
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NG D AT )
Vud = Av+fud/ vy,
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2084. 1 kN
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Vud = Ave zer/ vy,
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133676 kN
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WA Y — X 04 FRP JEIERET - A4 (%)

[FRPAXE GG - M TAREL (42)

10°% / 1.10
102 /7 1.10
58783 mm®

5100 25 N/m?

ter = (dkxy+ Y (D), D))/ (twe dw?)

26 mm
344 mm

BT B REC DD R (yb) © 110

- AT R AR SR (kxy)

Ubknt, (O > @)
Vud = 43360 kN =

ZOsit |

kxy = 8. 125+5, 045K

K = (2Dgs+Dy5) /v (Dyy*Dyy)

Dy = Ex-tw’/ (12 (1- v xy* v yx))
Dyy = By tw’/ (12+ (1= v xy* v yx))
Dig = vxyDy = vyxDy

Dgg = Gxy*tw’/12

Gxy = Bys/ (2(1+ v 45))

vXy =

7.2.4]

8552 J0.9/0
0, 662 (L., k=1
34815351 N « mm
35420835 N * mm
6375750 N * mm
6504276 N * mm
4440, 789 N/mm®
0.18
0.18
0.52
23000 N/mm®
23400 N/mm?
13500 N/mm?
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(1) lhe— 2 Mo oA o PR

yi*M(Sd) / Mud = 1.0
L0 X TI7,17 [/ 483663042

R IR N 0K
O, 2
(2) WA 5 Mk LS AR

y*S(sd) / Vud = 1.0
L0 X 162.86 / 2084.1
0.08 < 1.0 - 0K
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BOLT @ 5daR/L  (BRIEXS) : 8.8)  MI6 ‘;
W AR : F = 380.0 N/mm* ‘
W AT R i fvk = pmef = 1,00 X 380.0 = 380.0 N/mm’
R AT fvd = fvk/ym = 380 / 1.05 = 362 N/m’
‘.‘,! ‘)'_/,. O )
3 A 5 f = 990:0 N/mn’ (iﬂ:ﬂlﬁﬂil {juf{‘)"r(l)l 5{J L) 4 L1 v
S JE R DR fbk = pmf = 1.00 X -‘QQQ:O = %ﬂwﬂ N/mm? "'}‘:é? .1
B A R fbd = fbk/ym  =£30990- / 1.05 = %4% N/mm® I F L
FRP (WEB) 3048
EMRE : f= 3050 N/mn 3058 0.8
JERRE D Ypi: i fbkk = pm*f = 1,00 X 305:0 = 3@5:@ N/mm?
AR il SR fbd = fhl/ym = \%@5 / 1.30 = aﬁgx; _N/mm
FRP (FLG)
YRR : £ = 284.0 N/mn’
TR EE oD R A fbk = pm-f =  L.00 X 2840 = 284.0 N/mm’
O g B fbd = fbk/ym = 284 / L1.30 = 218 N/mm®
72 HBFEOERSD
B ]
A (mm?) y (mm) Ay (mm®) To (mm*)
1 -FLG. PL 200 X 18 3600 -181 -651600 118036800
1 -WEB. PL 344 X 21.36 7348 72459500
1 -FLG. PL 166 X 18 2088 181 540828 - 97970544
13936 -110772 288466844
MLPIFLGO BRI PEFR B 0 55 U7 fil
te = 26mm X 23.0 kN/mm® / 28.0 kN/mn® = 21.36 mm
e =Ay / A = =7.9 mm
I=Tg-A- e = 287597098 mm’
Yu= —-182. 1 mm , Yl= 197. 9 mm
We= ~1584112 mm® Wt= 1457639 mn®
Ywu= =164. 1 mm , Ywl= 179. 9 mm
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190

39 X 1800.0 / 1.10
TBER Ci )T &9 D)
218.0 X 16,0 X 16.0
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p =nin(psl, pbl, ps2, pb2)
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p=  Myi/2yi® = 20.08 X10° x 118 / 48784 = 48570 N
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o
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